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HI1E (MAS R2) ABISXEe A=39 20238C 7TRHENZHUA B HMUAMES 3,716,282,734R0/01, S NEHS 3,716,282,7343 S .

R2ZE (Olate] L) AL - MEY ZHeE HE - AHE0aAet 20

1. He =2 M USn ZO(E = & ©91).

1) Hak=g 9,070 H&A 2) AESY 0 #&

3) Ex=3+Y 0 &g 4) EA3=+E 784,680 #&

5) Me=3 0 & 6) MY 900,173 & &

7) OlE= 1,542,465 #&  8) F=d 479,895 &

2. HE° F2 M2 USH ZCHA &= & o)

1) AFRH| 296,173 &  2) MatE4Hl 5972 #&

3) Argdl 132,493 && 4) &3 1,501,630 #&

5) MEEXNS 0 & 6) 48= 0 &4

7) BXE 15,000 #&  8) GIBIHIZIIEL 1,765,015 &&
R3E (=B EMA) Gl S8 S0 420 AARZ Q1510 0101 3 E Moo HES g 2RIt US Hols MSX=L X AASTAE P - 3HAH
HM10E 2 M=o REN 28 B0l =510 FIOIFFMAS HY - =3 & AL FHZEUA2 0IAZY AZE HY #FE = 72 OlUHM Al -2 - FEH
HH HMEES StCt.
HM4Z (0iHIBl) OI=SE £ gle e NELE e ZUXS0H SLoHI| /A6t 2 oate] 225 HolblZ2 ASH&0 HaE = UCH

H5E (Mlate] M2) HEZHIS ZHO LRE 20 = ASSKEY L ASSTAE WP - AHAE HI6E0 2IHSHH HaS 88 += UCH
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(At Xl AsS3 gelslA)

1. Hg (e91:88) 2. HE HeEd
202314 20234 o 20234 2023 AL
- 6xtEZ TxEE (g_‘;') HI 2 2 - 6XFEZ TR = (‘;‘f‘) 1}
ofl £H(A) of| &4(B) of AH(A) oi[ £H(B)
s A 4,920,366 3,716,283 | -1,204,083 z A 4,920,366 3,716,283 -1,204,083
Tkl 610,000 9.070 -600,930 A2 HI 450,486 296.173 -154,313
Al 4= 0 | 0 0 A=A H| 309,000 5,972 -303.028
2x34¢ 300,000 0 -300,000 At 209.367 132,493 ~76.874
zaZ24+¢ 966,780 | 784,680 -182,100 HES 1,556,730 1,501,630 -55, 100
32 0 0 0 BJECXE 0 0 0
3 996,041 900, 173 -95,868 B3 0 | 0 0
EE 1,542,465 1,542,465 0 HEXE 15,000 15,000 0
4 505,082 479,895 -25,187 _-ﬂ-ﬂ ‘ “ o f oo BHIE I 2.379.784 1,765,015 -614.769






